
10      20     30 

2      5     7 40      50     60 17 23     27 

1 3 5.5   6   6.5 8 

Wie	
  viele	
  Schlüssel	
  fehlen	
  in	
  dem	
  Baum	
  mindestens?	
  9
Wie	
  viele	
  Schlüssel	
  fehlen	
  in	
  dem	
  Baum	
  höchstens?	
  27
Vervollständigen	
  Sie	
  den	
  B-­‐Baum!
Fügen	
  Sie	
  den	
  Schlüssel	
  5.7	
  ein.

B-­‐Baum	
  der	
  Ordnung	
  m	
  =	
  4

Algorithmik:	
  ArbeitsblaJ	
  B-­‐Trees

16 18 22 24 28 35 44 58 98 

2      5     7 

1 3 5.5   5.7  6   6.5 8 

2      5    5.7   7 

1 3 6   6.5 8 5.5

2    5 

1 3 6   6.5 8 5.5

5.7    10      20     30 

7 2    5 

1 3 6   6.5 8 5.5

20     30 

7 

10 

5,7 

17 


